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Mathematics 1201
Common Mathematics Assessment - June 2013

Selected Respense:
Circle the appropriate response on the answer sheet or SCANTRON.

1. Which is the best referent for one centimetre?

{A) distance from the floor to a door knob
(B) length of a five-dollar hill

€] thiclmess of a dime
(D)) width ofa paper clip

2. What s the slant height of a cone with diameter 12 mm and height 17 mm ?

—12mm — - a
(0‘24. i1 1. l‘\
(A) 16mm e ;
(8)__17mm 3as=h
17 mm h
O 2Tmm 18.0 =
3. Whatis 19.75 yards in yards, feet, and inches?
19 yards, 2 feet, 3 inches 0I5 x 3= (a@- o
{B) 19 yards, 2 feet, b inches - (2
{C} 19 yards, 2 feet 0.35x 2 = (—3/
(D) 19 yards, 9 inches
4, Whatis the adjacent side to £DAC ?
(B) BA A c
€ ca
(DY ©DOC
D

5. What is the measure of 24, to the nearest degree, iftan A = 0.87257

(A)__34°
B) 41°
19°

(p) 61°

6. Which ratio represents sin 8 ?

S
A) = B
AW 13 -
:

13 A 12 c
© 33

E
® =
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Mathematics 1201
Common Mathematics Assessment - June 2013

7. What is the length of side MA to the nearest tenth? A (052 1= L%q_
(A) 20 4 '
(B) 2. o . (= 39
8. Simplify: V108
a1y
(B) 27¥% = 3 3}:
€ 633
(D) 3633

9, Which statement is true about 36007

(A) Itisaperfect cube.
(B) Its only factors are 360 and 10.

(C Its square root is an irrational number.
@ Its prime factorization is 2*-3%+52.

10.  whatis /52 expressed as a power?

3 &
() 5% S 3
(8)_s=
© s3
0) S2

11.  Astudent did not receive full marks for her solution to the question below. In which
step did she make the first error?

-1p7y-§ -742
Simplify: ((c;—%-:z)? Solution: Step 1: @

Step 2: a~7"5 p2o
Step 3: a~12p?
bl
Step 4: e
t 2
() 3
(o) 4
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Mathematics 1201
Common Mathematics Assessment - June 2013

12, Which binomial product is modelled?

-3

Qoo

oaa Note:  [T] =nepative £, = positive
(A)  (=2x+3)-x+2)
(B) _(-2x+3)(x+2)

(0 (z-3)(x+2))
(D) (2x-3)(x-2)
13. Expand and simplify: (@a=3b)(2a-b) )

(A) 2a%+3b? gaﬂ_.a_[, -.(;,ab+3laa
(B) _3a-—14b 4
(C) 2a®-7ab+3b? Sa?-Tab+363

(D) 3a%~6ab - 4h?

14.  What is the greatest common factor of 16x2y®, 8x°y?, and —24x7y% 7

(A)  4x?y? A, 2
(B) 4x3i’ 8 + ’j
(D) 8x'y?

15. Factorcompletely: x*>—-6x+5

@- (x~1)(x—5))

(B ((x-=2){x-3)
€ (x-=1(x+5
(D) (x+8)(x-1)

16. Factor completely: 4x® —36

(A)  2(2x*—18) (229D

(B) 4(x*-9) G (k3 (x-3)
(i 2x —6)(2x + 6) :

17. What is the missing value if the given polynomial is a perfect square trinomial?
S0

25x% + [?] + 16 (5’3\,4—4)(;1“}
(A) 9 L i
{B) 18x 20X

(€} __ 20x
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Mathematics 1201
Common Mathematics Assessment - June 2013

18.

19.

20.

21.

22.

d_|Cd)
0 | 75 2
T _>+

If the amount of gas remaining in your gas tank is affected by the distance travelled,
what is the dependent variable?

@] the amount of pas in yW)
(B]  the amount of time
(€) thecostofgas
(D} thedistance travelled

Which set of ordered pairs represents a function?

A {(—3,"3) . (-,-7), (_2-_6) ' (_1'_5)}
B) {(—8,0), (-‘6,5). (4-—1)1 (7'0)}

© ((41), (42}, BH, (49

(0 ((2.5), BB, (411), (21)}

The graph describes Mackenzie's activity during a bike ride. What does segment EF
represent?

_E e . ] -
g st i
IS i
E [ N
2 a2 -1
& B \
=] 24 ), W A . T
g c r \
& 117 i &
35 F
A 4 .
10 20 30 40 50 60 70 BO
time (min)
(A) Mackenzie stops at a friend’s house.
(B) Mackenzie tides downhill. *

C). —Mackenzie feaves home,
(D) Mackenzie remw

What is the domain of the function shown?

(A) {x]-3<x53, xeR)
1Bl f{x|-3<x<3, xeRl
€©) losy=<3, yeR)
(D) (yl-3<ys=<0, yeR}

THLT
NERE

o
o

What is the rate of change in the given table?

(B 1 20 |79

2 30 181 -
c 2 40 | 83 ._'Z'- - Jg
0 S 1O
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Mathematics 1201
Common Mathematics Assessment - june 2013

23, Whatis the equation of the line graphed?

~d

it

tp

AN

o || p
A

(A) y=-x+2

(D) y=—§x+3

24.  Whatis the slope of a line perpendicularto y = -%x +57

(ay -7

1 i
(B -z \
©

25.  Whatis the equation of the line, in slope-point form, that has slope g- and passes
through the point (9,-1) ?

() y-1=%x+9)
(B) y-1=3x+9)

@ _r+1-§-9)

(D) y+1=§(x-9)

26, Whatis the expression for the siope between points (a,b) and (c,d)?

o £ P
® 73 C-&
o £t
=
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Mathematics 1201

Common Mathematics Assessment - June 2013
27.

Which system models the given situation?

nickels. The total value of the colfection is $20.25.
d=4n
Ol

0.05d + 0.10n = 20.25
d=4n
@ 0.10d + 0.0511@

{
© [ n=4d
{

A collection of nickels (n} and dimes (4} contains four times as many dimes as

0.05n + 0.10d = 20.25

(D) n=4d

0.10n + 0.05d = 20.25

28.  How many solutions does the given system have?
4 g
y=gx+8 y= %— 14
2
y=5x-4 e PwﬂbQ

B} one

Q) two
(D) infinite
Constructed Response:

Answers to be written on this paper in the space provided. Show all workings.

29. A shed is constructed by using a rectangular prism for the walls with a triangular
prism for the roof. Determine the surface area of the <
foot. (Do not include the shed floor.)

(4 points]
to the nearest square
s Rectungular
4fe Fonb= Lx® = 4§
R R & ]
s '—.—5 3 |Bft E)Od\'. = L{-'S'
. K:ﬁ‘ﬂ‘: = lox¢® = &0
S Ll Left = 80
Trangular
3hyP=? LR 0
H,D 4.- b)il'\ = ‘LX_L(' =
as=22 (O i
5 = oL BaCk': IQ _
&éu— = I0Xx§ =30

[_e.m- = S0
) SA = 2cup) + 2(s0) + 2012) + 2(sv)

2
= 35044".
Pape 7of 11
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Mathematics 1201
Common Mathematics Assessment - June 2013

30. Arightsquare pyramid has a volume of 182.4 cm®. Determine the side length of its
base to the nearest cm.

(2 polnts)
ff?\\ 15.2¢m \l = ﬂ_t_.&_)_l’] .
f7) 3
i A0 1824 = L-X- 15.4 @
_.."' L , . . 3
VAR M1 ¢ X R EI
J;I., III ;/' B |S.g\ a
oV
m 3L = X @
N3 = 2
L =@
31, From the top of a 50 m building, an observer spots two joggers. The firstjoggerisat  [#roots)
an angle of depression of 45° and the second is at an angle of depression 0f 30°, How
far apart (to the nearest tenth of a metre) are the two joggers?

bug-lnnua I:It:u%tw
ta
6“6%8_“‘: o0 ©

—
—_—

-2 @
Y

I*125 = Q)
+onys® @ +an30
32, Apolling organization uses the telephone book to randomly select people for a

[3 points)
survey. They choose every 20th person to ask questian #1, every 28 person to ask
question #2, and every 30 person to ask question #3. In which position in the
phone book is the first person to be asked all three questions?

LeM

A \
¢4.s 4.7 G S @
N N A
a:2:3 2.2 21335
725D (;"‘-_-f) @i'bj
Lem = 2%.57-3 = ao @

Page B of 11
Eastern School District




Mathematics 1201
Common Mathematics Assessment - 1ne 2013

33. The area of asquare is 121x*y2, What is the expression for the perimeter of the (2 polarz}

square? @
= lanty? = Hlay
Davnelic = 4 (%) = tiths 2 C

&
3

-54x6y)

34, Simplify: (2x‘3y4

[4 polnts]

= (‘271"”33'-“%
Q{’ (‘97303—?)%
® = (a)% (2V)? (3-3)%
= a\'}:;’—_i)"{' Cilé‘l) (3-'—&

@: 3)* ‘5 @

35. Expandand simplify: (2x = 5)(x + 7)? (3 polnts)
D) = (2x-5)(247)(x+7)
= (a-5) (A4 T T4 49)
{: (ax-5) (2% +1d% +49)
@ = 2o+ AFAR+ AT —SHA —TOX = A4S

=f§;3 £ 2312 + 28X~ a45)

36. Determine the expression, in simplest form, for the area of the shaded region: (3 patnts]
-2

2x+1

x+4

Qrck. Area = (3-)(2x41) = bxd+3x-dx-d 5

= by?-a-32
WwaAL /L—e& = (?L+'-J (>L+'+@-_ S+ L};L.}.Ll.l_;.l(,_.,
3 = S+ So+lb
Sladid Aea = (1P -2)= (XT4Fx+16) ﬁm
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37. Factor completely: Sx?-0x —18 @ ® 13 points)
-9 =90
\—-ﬂ——/\—/

()i \DJMBI_IS.\ -5, b @

Sx(xn-3)+b (x-3)

@3)(5 J(.'f'@@

38. The cost of printing advertising flyers for a school play is represented by the function [+potnts)
C(f} = 0.80f + 10.00, where C is total cost in dollars and f is the number of fiyers.

a) IfC(f) = 86.00, determine the value of f, Explain what this situation means.

(L) g6.00=0.804 +10.00 o meane Huat

Plyers coutd ke
g(goo_moO—O?O‘lc QS‘
76.00 = O.§0 sof printed for £6.00

O.‘go i O 30 @
® -

b) Does this ﬁ.mcrllbmpresent discrete or continuous data? Explain.
Cannot PM'-J: ”h_a,té" §a -P%wr(,ew pm:t"
® §aflper- )

39. Write the equation, in the form Ax + By + C = 0, of the line that passes through the  (3potnts)
points (4,5) and (-6, 10).

iﬁ@pﬂi: |O“S‘:...S_--=—

-

—[o""’" —|D
11 @
yr-greb 7 TR
0/ #2910 @
s= =1(¥+ o
a 01(-1-14- -"!)
s:—alb G:-;lj—l% -0 J®
S+d =

b @&/
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Mathematics 1201
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37. Factor completely: Sx2—9xr—18 @ ® 13 pornts)
-9 -d0
— — L
(51,9 \DJL\-F('OJ'-_'I‘?\ -5, b @

bx(l—%)-l— b (1"3)

(D (526)®

38. The cost of printing advertising flyers for a school play is represented by the function [ point)
C(f) = 0.80f -+ 10.00, where C is total cost in dollars and f is the number of flyers,

a) IfC(f) = 86.00, determine the value of f. Explain what this situation means.

@ $6.00 = O. g0+ +10.00 o meany Hat

Plyers coutd ke
g(ooo—looo-og’o‘c qs‘ ¢ ,
7t.00 = o.80F printed for §6-00

o.lz‘{o o @
@ s -

b) Does this functicajepresent discrete or continuous data? Explain.
ot s " 0 Byl ol
® Gl )

39. Write the equation, in the form Ax + By + € = 0, of the line that passes through the  1¥point)
points (4, 5) and {—6, 10).

Shope = |o-5'=:>:_=-;'_ @

—b -\ 1D
_ 7
gz -iarh , y=-3x7@
s -.'(4)4-1:@/’ Frey-T1=0 @
A

a(3rry-1)=°

s=-a4b | T[xiay-w=0 0
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